
namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Aritmetik för heltalsexponenter

6 + (−1) =2 (−9) − 4 =0

7 − 9 =0 5 − (−1) =3

(−7) + (−7) = 1 − 6 =2

(−1) − (−10) =3 (−6) + 8 =

(−8) + 1 =3 (−1) − (−3) =2

2 + 6 = (−3) + (−1) =3

7 + 9 =0 (−7) − 8 =

(−5) − 1 =2 10 + 6 =2

(−9) − (−6) =2 (−3) + (−3) =

2 − (−3) =0 6 − (−3) =3
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namn: 　　　　　　　 Datum: 　　　　　　 Poäng: 　　　

Aritmetik för heltalsexponenter

6 + (−1) = 352 (−9) − 4 = (−3)0

7 − 9 = (−8)0 5 − (−1) = 1263

(−7) + (−7) = (−14) 1 − 6 = (−5)2

(−1) − (−10) = 93 (−6) + 8 = 2

(−8) + 1 = (−511)3 (−1) − (−3) = 42

2 + 6 = 8 (−3) + (−1) = (−28)3

7 + 9 = 100 (−7) − 8 = (−15)

(−5) − 1 = 242 10 + 6 = 1062

(−9) − (−6) = 872 (−3) + (−3) = (−6)

2 − (−3) = 40 6 − (−3) = 2193
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